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1. Which type of soil is found in Great 

Northern plain? 

(A) Red soil  (B) Black soil 

(C) Laterite soil (D) Alluvial soil 

2. When were the Indian states formed 

based on languages? 

(A) 1952  (B) 1953 

(C) 1954  (D) 1956 

3. What is the main purpose of social 

forestry? 

(A) balanced reforestation   

(B) Fuel and timber Plantation for 

the farmers  

(C) afforestation on large scale  

(D) Horticulture of medicinal & 

other fruits  

4. Mirages are seen in- 

(A) Hot desert plain (B) oceans 

(C) Forests     (D) Stratosphere 

5. Ganga river in Northern plain does 

not flows through- 

(A) Lucknow (B) Haridwar 

(C) Allahabad (D) Patna 

6. “Good emitters are good absorbers”. 
This law  was stated by 

(A) Kirchowff’s law  
(B) Boltzmann law 
(C) Newton’s law  
(D) law of conservation of Heat 

7. conversion of matter from solid into 
liquid is called – 

(A)  melting  (B)Evaporation 
(C) Boiling  (D) none of these 

8. Mohanjodaro, an Indus valley 
civilization site is located in the 
country of -  
(A) Pakistan  (B) Afghanistan  
(C) India   (D) Uzbekistan  

1- Hkkjr ds mRrjh fo’kky eSnkuksa esa fdl izdkj dh 

feV~Vh ikbZ tkrh gS\ 

(A) yky feV~Vh  (B) dkyh feV~Vh 

(C) ySVsjkbV feV~Vh (D) tyks<+ feV~Vh 

2- Hkk"kk ds vk/kkj ij Hkkjrh; jkT;ksa dh iqu% lajpuk 

fdl o"kZ dh xbZ Fkh\ 

(A) 1952   (B) 1953 

(C) 1954   (D) 1956 

3- lkekftd okfudh dk eq[; iz;kstu D;k gksrk gS\ 

(A) larqfyr iqu% oU;dj.k  

(B) fdlkuksa ds fy, bZ/ku ,oa dk"B ikS/kkjksi.k 

(C) cM+s iSekus ij oujksi.k  

(D) vkS"k/kh; ,oa vU; Qyksa dh ckxckuh 

4- e`xr`".kk,a fn[kkbZ nsrh gS& 

(A) m".kdfVca/kh; jsfxLrkuksa esa 

(B) egklkxjksa esa 

(C) ouksa esa 

(D) lerki eaMy esa 

5- mRrjh eSnkuksa esa xaxk unh fuEu ls gksdj ugha cgrh 

gS& 

(A) y[kuÅ  (B) gfj}kj 

(C) bykgkckn  (D) iVuk 

6- ^^vPNs mRltZd vPNs vo’kks"kd gksrs gS** ;g fu;e 

gS& 

(A) fdjpkWQ dk fu;e  

(B) cksYVtesSu dk fu;e 

(C) U;wVu dk fu;e  

(D) Å"ek laj{k.k dk fu;e 

7- Bksl ls nzo esa inkFkZ ds voLFkk ifjorZu dks dgrs 

gS& 

(A) xyu   (B) ok"iu 

(C) DoFku  (D) buesa ls dksbZ ugha 
8- eksgutksnM+ks dk flU/kq ?kkVh lH;rk LFky fdl ns'k 

esa gS\ 

(A) ikfdLrku  (B) vQxkfuLrku 

(C) Hkkjr   (D) mTcsfdLrku 
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9. Babur has mentioned his experienc-
es in -  
(A) Tuzuk-i-Baburi 
(B) Tuzuk-i-Sultanate 
(C) Kharcha-i-Baburi 
(D) none of these 

10. Which of the following country has 
the biggest International boundary 
line with India?  
(A) Bangladesh  (B) Bhutan  
(C) China   (D) Pakistan  

11. Equator, Tropic of Cancer and 
Tropic of Capricorn passes through 
the continent of -  
(A) Australia  (B) North America 
(C) South America(D) Africa  

12. The Earth has a radius of 
approximately - 
(A) 12,700 km (B) 6900 km 
(C) 6400 km (D) 11,600 km 

13. Orbit of asteroids is in between the 
planets of -  
(A) Mercury & Venus  
(B) Earth & Mars 
(C) Mars & Jupiter 
(D) Jupiter & Saturn 

14. Second round table conference of 
London was held at -  
(A) Saint James's Palace    
(B) Kingsley's Palace 
(C) Buckingham Palace    
(D) 10 Downing Street  

15. Excellent breed of maize is -  
(A) Sonalika  (B) Ranjit  
(C) Padma   (D) Pusa - 101 

16. Sound takes maximum time to travel 
from one place to another in -  
(A) night   (B) summer  
(C) winter        (D) same time period  

17. Which type of coal has highest 
carbon context?  
(A) Peat   (B) Anthracite  
(C) Bituminous  (D) Lignite 

9- ckcj us vius vuqHkoksa dk o.kZu fd;k gS\ 

(A) rqtqd&,&ckcjh esa 

(B) rqtqd&,&lYrur esa  

(C) [kpkZ&,&ckcjh esa 

(D) mijksDr esaa ls dksbZ ugha  

10- fuEufyf[kr esa ls fdl ns'k dh varjkZ"Vªh; lhek 

js[kk Hkkjr ds lkFk lcls yach gS\ 

(A) ckaXykns'k   (B) HkwVku 

(C) phu   (D) ikfdLrku 

11- Hkwe/; js[kk] ddZ js[kk vkSj edj js[kk fdl 

egkns'k ls gksdj xqtjrh gS\ 

(A) vkWLVªsfy;k  (B) mÙkjh vesfjdk 

(C) nf{k.k vesfjdk (D) vÝhdk 

12- i`Foh dk Hkwe/;h; jsfM;l yxHkx fdruk gS\ 

(A) 12]700 fdeh (B) 6]900 fdeh 

(C) 6]400 fdeh  (D) 11]600 fdeh 

13- {kqnzxzg dh d{kk fdu xzgksa ds chp gS 

(A) cq/k vkSj 'kqØ  

(B) i`Foh vkSj eaxy 

(C) eaxy vkSj c`gLifr 

(D) c`gLifr vkSj 'kfu 

14- yanu dk f}rh; xksyest lEesyu dgk¡ gqvk Fkk\ 

(A) lsaV tsEl iSysl (B) fdaXlys iSysl 

(C) cfda?ke iSysl  

(D) 10 Mkmfuax LVªhV 

15- edbZ dh mRd`"V uLy gS 

(A) lksukfydk  (B) jathr 

(C) in~ek   (D) iwlk&101 

16- /ofu dks ,d LFkku ls nwljs LFkku ij tkus esa dqN 

le; yxrk gsA ;g vf/kdre gksrk gS 

(A) jkr esa   (B) xfeZ;ksa esa 

(C) lfnZ;ksa esa  (D) lHkh le; leku  

17- dks;ys dk mPpre dkcZu ;qDr izdkj gS 

(A) ihV   (B) ,UFkzklkbV 

(C) fcVqeuh  (D) fyXukbV 
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18. The longest epic poem scripture of 
India is -  
(A) Bhagwat Geeta (B) Ramayan  
(C) Geet Govind   (D) Mahabharat  

19. Who among the following southern 
hindu ruler conquered sumatra, Java 
and many states of Malaysia after 
crossing Bay of Bengal?  
(A) Rajendra – I    (B) Rajendra Chola  
(C) Pulakeshin (D) Mahipal – II 

20. Yashpal Sharma passed away in July 

2021. He was related to which of the 

following fields? 

(A) Politics  (B) Journalism 

(C) Cricket  (D) Medicine 

21. Who has been named as a recipient of 

the prestigious lokmanya Tilak Nation-

al Award for 2021? 

(A) Dilip Shanghvi 

(B) Cyrus Poonawalla 

(C) Uday Kotak  

(D) Radhakishan Damani 

22. A tropical cyclone named Tauktae 

struck the India state of Gujarat on 

May 17,2021. Which country has 

named this cyclone 'Tauktae' ? 

(A) Bhutan  (B) Bangladesh 

(C) Sri Lanka (D) Myanmar  

23. The book 'Shuttling to the top' covers 

the story of which Indian badminton 

player ? 

(A) Saina Nehwal  

(B) Srikanth Kidambi 

(C) PV Sindhu(D) Pullela Gopichand 

24. Indian Navy undertook bilateral exerc-

ise 'Zayed Talwar 2021' with which 

country ? 

(A) Qatar  (B) UAE 

(C) Oman  (D) Saudi arab 

25. In March 2021, who was appointed as 

Chairman and Managing Director of 

the Food Corporation of India ? 

(A) Atish Chandra (B) Saurabh Garg 

(C) Sanjeev Kumar(D) Sharad Goklani 

18- Hkkjr dk lcls yack egkdkC; 'kkL= dkSu&lk gS\ 

(A) Hkxon~xhrk  (B) jkek;.k 

(C) xhr xksfoan  (D) egkHkkjr 

19- og dkSu lk fo[;kr nf{k.kh fgUnq jktk Fkk ftlus 

caxky dh [kkM+h dks ikj dj lqek=k] tkok vkSj 

eysf'k;k esa dbZ jkT;ksa ij fot; izkIr dh\ 

(A) jktsUnz&I  (B) jktsUnz pksy  

(C) iqydsf'ku  (D) efgiky&II 

20- ;'kiky 'kekZ dk tqykbZ 2021 esa fu/ku gks x;kA 

og fuEufyf[kr esa ls fdl {ks= ls lacaf/kr Fks\ 

 (A) jktuhfr  (B) i=dkfjrk 
 (C) fØdsV             (D) nok 
21- 2021 ds izfrf"Br yksdekU; fryd jk"Vªh; iqjLdkj 

ds izkIrdrkZ ds :i esa fdls ukfer fd;k x;k gS\ 

 (A) fnyhi lka?koh   

 (B) lkbjl iwukokyk 
 (C) mn; dksVd             

 (D) jk/kkfd'ku nekuh 
22- 17 ebZ] 2021 dks Hkkjrh; jkT; xqtjkr esa rkmrs 

uke dk ,d m".kdfVca/kh; pØokr vk;kA fdl 

ns'k us bl pØokr dk uke ^rkmrs** j[kk gS\ 

 (A) HkwVku   (B) ckaXykns'k 
 (C) Jhyadk             (D) E;kaekj 

23- iqLrd ^'kVfyax Vw n VkWi* fdl Hkkjrh; cSMfeaVu 

f[kykM+h dh dgkuh dks 'kkfey djrh gS\ 

 (A) lk;uk usgoky  

 (B) Jhdkar fdnkach 
 (C) ihoh fla/kq              

 (D) iqysyk xksihpan 

24- Hkkjrh; ukSlsuk us fdl ns'k ds lkFk f}i{kh; 

vH;kl ^tk;n ryokj 2021* vk;ksftr fd;k \ 

 (A) drj             

 (B) la;qDr vjc vehjkr 

 (C) vkseku              

 (D) lÅnh vjc 

25- ekpZ 2021 esa] Hkkjrh; [kk| fuxe ds v/;{k vkSj 

izca/k funs'kd ds :i esa fdls fu;qDr fd;k x;k gS\ 

 (A) vkfr'k panz  (B) lkSjHk xxZ 
 (C) latho dqekj             (D) 'kjn xksdykfu 
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26. Who won the All England Badminton 

Championships men's title ? 

(A) Liew Daren (B) Lee Zii Jia 

(C)Cheam June wei(D) Soong Joo Ven 

27. Pandit Rajan Mishra passed away in 

April 2021. He belonged to which 

Gharana ? 

(A) Banaras  (B) Gwalior 

(C) Jaipur  (D) Patiala 

28. Which among the following railway 

trains has been renamed as the 'Netaji 

Express' ? 

(A) Jammu Tawi mail    

(B) Howrah-Kalka mail 

(C) Deccan Odyssey 

(D) Maitree Express 

29. Which among the following is the 

name of the rover recently landed by 

NASA on Mars' surface ? 

(A) Perseverance (B) Explore 

(C) Outer Space (D) Progress 

30. Who is the author of the book " The 

Battle of Belonging " ? 

(A) Shashi Tharoor(B) Jai Ratan 

(C) Kapil Sibbal (D) Jairam Ramesh 

31. The dimension of which of the follow-

ing is the same as that of impulse ? 

(A) Volume  (B) Momentum 

(C) Torque   

(D) Change in the rate of momentum 

32. Which of the following have the same 

unit ? 

(A) Work and power    

(B) Torque and moment of inertia 

(C) Work and torque    

(D) Torque and angular momentum 

33. If the velocity-time graph of a particle 

is represented by y = mt + c, then the 

particle is moving with. 

(A) Constant Speed    

(B) Constant Velocity  

(C) Constant Acceleration   

(D) Varying Acceleration 

 

26- vkWy baXySaM cSMfeaVu pSafi;uf'ki esa iq#"kksa dk 

f[krko fdlus thrk gS\ 

 (A) fy;q MSju  (B) yh th ft;k 
 (C) phe twu oh            (D) lwu tw osu 

27- iafMr jktu feJk dk vizSy 2021 esa fu/ku gks 

x;k A os fdl ?kjkus ls lacaf/kr Fks\ 

 (A) cukjl  (B) Xokfy;j 

 (C) t;iqj             (D) ifV;kyk 
28- fuEufyf[kr jsyos Vsªsuksa esa ls fdls ^usrkth ,Dlizsl* 

uke fn;k x;k gS\ 

 (A) tEew roh esy  

 (B) gkoM+k & dkydk esy 

 (C) MsDdu vksfMlh          

 (D) eS=h ,Dlizsl 

29- fuEufyf[kr esa ls dkSu lk jksoj gky gh esa uklk 

}kjk eaxy xzg dh lrg ij mrkjk x;k gS\ 

 (A) iflZfo;jsal  (B) ,DLIyksj 

 (C) vkmVj Lisl             (D) izksxzsl 

30- ^^n cSVy vkWQ fcykWfUxax** iqLrd ds ys[kd dkSu 

gSa\ 

 (A) 'kf'k Fk:j  (B) t; jru 

 (C) dfiy flCcy          (D) t;jke jes'k 
31- fuEufyf[kr esa ls fdldk vk;ke vkosx ds leku 

gS\ 

 (A) vk;ru  (B) laosx 

 (C) cyk?kw.kZ              

 (D) lacsx dh nj esa ifjorZu 
32- fuEufyf[kr esa ls fdldh bdkbZ leku gS\ 

 (A) dk;Z vkSj 'kfä    

 (B) cy&vk?kw.kZ vkSj tM+Ro&vk?kw.kZ 

 (C) dk;Z vkSj cy & vk?kw.kZ               

 (D) cy&vk?kw.kZ vkSj dks.kh; laosx 

33- ;fn fdlh d.k dk osx&le; xzkQ y = mt + c 

}kjk fu:fir gks] rks d.k py jgk gS% 

 (A) ,dleku pky ds lkFk    

 (B) ,d leku osx ds lkFk 
 (C) ,dleku Roj.k ds lkFk               

 (D) ifjorhZ Roj.k ds lkFk  
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34. Which of the following is not a vector 

quantity ? 

(A) Speed  (B) Velocity 

(C) Torque  (D) Displacement 

35. The work done by the string of a 

simple pendulum during one complete 

oscillation is equal to- 

(A) Total energy of the pendulum  

(B) Kinetic energy of the pendulum 

(C) Potential energy of the pendulum  

(D) Zero  

36. Which one of the following is non-

renewable source of energy ? 

(A) Tidal energy (B) Biogas 

(C) Natural gas (D) Geothermal energy 

37. The reason for a swimming pool to 

appear less deep than the actual depth 

is. 

(A) Refraction (B) Light scattering 

(C) Reflection (D) Interference 

38. If two plane mirrors facing each other 

are inclined at an angle of    with 

each other, then number of images 

formed by an object lying between 

them is - 

(A) 10     (B) 11      (C) 12     (D) 13 

39. Which among the following waves is 

used for communication by artificial 

satellites ? 

(A) Micro waves (B) Radio waves 

(C) A.M. (D) Frequency of      series 

40. Shaving mirror is- 

(A) Convex  (B) Concave 

(C) Plane  (D) Parabolic 

41. Clear nights are colder than coloudy 

nights because of - 

(A) Conduction (B) Condensation 

(C) Radiation (D) Insolation 

42. Tungsten is used for the manufacture 

of the filament of an electric bulb, 

because- 

(A) It is a good conductor   

(B) It is economical 

(C) It is a malleable   

(D) It has a very high melting point 

34- fuEufyf[kr esa ls D;k csDVj ifjek.k ugha gS\ 

 (A) xfr   (B) osx 

 (C) cy&vk?kw.kZ             (D) foLFkkiu 

35- ,d iw.kZ nksyu ds nkSjku ,d ljy yksyd ds lw= 

}kjk fd;k x;k dk;Z blds rqY; gS 

 (A) yksyd dh iw.kZ ÅtkZ    

 (B) yksyd dh xfrt ÅtkZ 

 (C) yksyd dh fLFkfrt ÅtkZ                

 (D) 'kwU; 
36- fuEufyf[kr esa ls dkSu lk ÅtkZ dk xSj&v{k; lzksr 

gS\ 

 (A) Tokjh; ÅtkZ  (B) ck;ksxSl 

 (C) izkd`frd xSl             (D) Hkwrkih; ÅtkZ 

37- rj.k rky okLrfod xbjkbZ ls de xgjk fn[kkbZ 

nsrk gSA bldk dkj.k gS  

 (A) viorZu  (B) izdk'k izdh.kZu 

 (C) ijkorZu             (D) O;frdj.k 
38- ;fn ,d nwljs ds lkeus nks lery niZ.k ,d nwljs 

ds lkFk     ds dks.k ij >qds gq, gSa] rks muds 

chp iM+h gqbZ oLrq }kjk cukbZ xbZ Nfo;ksa dh la[;k 

gSA 

 (A) 10   (B) 11 

 (C) 12              (D) 13 

39- d`f=e mixzg ds tfj, lapkj ds fy, fdu rjaxksa 

dk iz;ksx fd;k tkrk gS\ 

 (A) lw{e rjaxsa  (B) jsfM;ks rjaxsa 
 (C) ,-,e-              

 (D)      ds Øe dh vko`fÙk;k¡ 

40- gtker dk 'kh'kk dkSu&lk gS\ 

 (A) mRry  (B) vory 

 (C) lery             (D) ijoyh; 

41- es?kkPN= jkr dh vis{kk fueZy jkr vf/kd B.Mh 

gksrh gSA 

 (A) pkyu  (B) nzo.k 
 (C) fofdj.k             (D) lw;Zrki 
42- fctyh ds cYc ds fQykesaV ds fuek.kZ ds fy, 

VaxLVu dk iz;ksx fd;k tkrk gS] D;ksafd 

 (A) ;g lqpkyd gS  (B) ;g lLrh gS 
 (C) ;g vk?kkro/kZuh; gS               

 (D) bldk xyukad cgqr Å¡pk gS 
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43. X-rays region lies between  

(A) Ultraviolet and visible   

(B) Visible and infra-red region 

(C) Gamma-rays and ultraviolet   

(D) Short radio waves and long radio 

waves 

44. Which of the following radiations has 

the least wavelength ? 

(A) x-rays  (B) α-rays 

(C) γ-rays  (D) β-rays 

45. If we cut a magnet, we get 

(A) North pole and south pole 

separately    

(B) Only north poles 

(C)Only south poles 

(D) Small magnets 

46. Pycnometer is an instrument used to 

measure the- 

(A) Density    

(B) Intensity of solar radiation 

(C) Intensity of earthquake   

(D) High temperatures 

47. Superconductors are those elements. 

(A) Whose conductivity is intermedia-

te between metals and insulators  

(B) Whose resistance falls almost to 

zero at very low temperatures 

(C) Which turn into insulators at very 

low temperatures    

(D) Which turn into insulators at very 

low temperatures 

48. A device used for converting A.C. Into 

D.C. is called  

(A) Transformer (B) Rectifier 

(C) Induction coil (D) Dynamo 

49. Which of the following principal is 

used to produce 'lowtemperatures' ? 

(A) Super conductivity    

(B) Joule-Kelvin effect 

(C) thermo-electric effect    

(D) Adiabatic demagnetization 

50. Lens is made up of 

(A) Pyrex glass (B) Flint glass 

(C) Ordinary glass (D) Cobalt glass 

 

43- ,Dl&js {ks= fLFkr gS 

 (A) ijkcSaxuh vkSj n`'; {ks= ds chp   

 (B) n`'; vkSj vojDr {ks= ds chp 

 (C) xkek&js vkSj ijkcSaxuh {ks= ds chp              

 (D) y?kq jsfM;ks rjaxksa vkSj nh?kZ jsfM;ks rjaxksa ds 

chp 

44- fuEufyf[kr esa ls fdl fofdj.k esa lcls de 

rjaxnS/;Z gksrk gS\ 

 (A) x-fdj.ksa  (B) α&fdj.ksa 
 (C) γ&fdj.ksa             (D) β&fdj.ksa 
45- ;fn ge ,d pqacd dkVrs gSa] rks ge izkIr djrs gSa 

 (A) mÙkjh /kqzo vkSj nf{k.kh /kqzo vyx&vyx 

 (B) dsoy mÙkjh /kqzo 

 (C) dsoy nf{k.k /kqzo               

 (D) NksVs pqEcd 

46- fiDuksehVj uked midj.k dk iz;ksx fdls ekius ds 

fy, fd;k tkrk gS\ 

 (A) ?kuRo    

 (B) lkSj fofdj.k dh rhozrk 
 (C) HkwdEi dh rhozrk        
 (D) mPp rkieku 

47- vfrpkyd os rRo gSaA 

 (A) ftudh pkydrk /kkrqvksa vkSj jksf/k;ksa ds chp 

esa gksrh gS    

 (B) ftudk izfrjks/k cgqr U;wu rkieku ij yxHkx 

'kwU; gks tkrk gS 

 (C) tks cgqr U;wu rkieku ij jks/kh cu tkrs gSa 
 (D) tks fon~;qr dk pkyu dsoy cgqr mPp rkieku 

ij gh djrs gSa 

48- ,-lh- dks Mh-lh- esa #ikarfjr djus ds fy, iz;qDr 

lk/ku dks dgrs gSa 

 (A) ifj.kkfe=  (B) fn"Vdkjh 
 (C) izsj.k rsy             (D) Mk;useks 
49- ^U;wu rkieku* iSnk djus ds fy, fuEufyf[kr esa ls 

fdl fl)kar dk iz;ksx fd;k tkrk gS\ 

 (A) vfrpkydrk  (B) twy&dsfYou izHkko 

 (C) rki&oSn~;qr izHkko (D) #)ks"e fopqacdu 

50- ysUl fdlls curk gS\ 

 (A) ikbjsDl dk¡p  (B) f¶yaV dk¡p 

 (C) lk/kkj.k dk¡p            (D) dksckYV dk¡p  
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51. Night photography in mist and fog are 

possible using. 

(A) Ultra-violet radiation    

(B) Infra-red radiation 

(C) Microwave radiation    

(D) Gamma radiation 

52. Water cannot be used to extinguish fire 

caused by electric current, because- 

(A) It may cause electrocution   

(B) It may cause hydrolysis 

(C) It may cause electrolysis   

(D) It may spoil the wiring 

53. Light beam which is highly directional 

is called. 

(A) Eraser  (B) Grazer 

(C) Maser  (D) Laser 

54. Microphone is a device which 

transforms the. 

(A) Sound signal into current signal  

(B) Current signal into sound signal 

(C) Sound signal into light signal  

(D) Light signal into sound signal 

55. When two type of semiconductors p- 

and n-type are brought in contact, they 

form p-n junction which acts like a/an. 

(A) Conductor (B) Oscillator 

(C) Rectifier  (D) Amplifier 

56. The device used for measuring the 

wavelength of x-rays. 

(A) G.M. counter (B) Cyclotron 

(C) Bragg Spectrometer    

(D) Mass Spectrometer 

57. In Astrophysics, what name is given to 

a hypothetical hole in outer space from 

which stars and energy emerge ? 

(A) Black hole (B) Ozone hole 

(C) Asteroid belt (D) White hole 

58. Which one of the following is termed 

as 'dry ice' ? 

(A) Ice present in ice-cream   

(B) Solid water at Antarctica 

(C) Solid state of carbon dioxide  

(D) Solid water of ionosphere 

 

51- jkr esa rFkk dqgkls vkSj dqgjs esa QksVksxzkQh djuk 

fuEufyf[kr esa ls fdldk iz;ksx djrs gq, lEHko 

gS\ 

 (A) ijkcSaxuh fofdj.k (B) vojDr fofdj.k 

 (C) lw{erjaxh fofdj.k     (D) xkek fofdj.k 
52- fon~;qr /kkjk ls yxh vkx dks cq>kus ds fy, ty 

dk iz;ksx ugha fd;k tk ldrk] D;ksafd&  

 (A) mlls bysDVªkWD;w'ku gks ldrk gS  

 (B) mlls ty&vi?kVu gks ldrk gS 

 (C) mlls fon~;qr&vi?kVu gks ldrk gS             

 (D) mlls rkjksa esa [kjkch vk ldrh gS 

53- izdk'k fdj.k iqat tks vR;ar fnf'kd gks] dgykrh 

gSA 

 (A) bjstj  (B) xzstj 

 (C) eslj             (D) yslj 

54- ekbØksQksu ,d midj.k gS tks #ikarfjr djrk gSA 

 (A) /ofu flXuy dks /kkjk flXuy esa  

 (B) /kkjk flXuy dks /ofu flXuy 

 (C) /ofu flXuy dks izdk'k flXuy              

 (D) izdk'k flXuy dks /ofu flXuy esa 
55- p- rFkk n- izdkj ds nks v)Zpkyd] tc laidZ esa 

yk, tkrs gSa] rks os tks p-n laf/k cukrs gSa] og 

fdl :i esa dk;Z djrh gS\ 

 (A) pkyd  (B) nksfy= 

 (C) fn"Vdkjh        (D) izo/kZd 

56- ,Dl&fdj.kksa ds rjaxnS/;Z dks ekius ds fy, dkSu&ls 

midj.k dk iz;ksx fd;k tkrk gS\ 

 (A) th-,e- dkmaVj (B) lkbDyksVªkWu 

 (C) czSx LisDVªeekih               

 (D) nzO;eku LisDVªeekih 
57- [kxksy&HkkSfrdh esa ckg; varfj{k esa ifjdfYir gksy 

dks tgka ls rkjs ls vkSj ÅtkZ fudyrh gS] D;k 

uke fn;k x;k gS\ 

 (A) CySd gksy  (B) vkstksu gksy 

 (C) ,fLVjkW;M csYV (D) OgkbV gksy 

58- fuEu esa ls fdls ^lw[kh cQZ* dgk tkrk gS\ 

 (A) vkblØhe esa ekStwn cQZ    

 (B) vaVkdZfVdk esa Bksl ikuh 

 (C) dkcZu MkbvkWDlkbM dh Bksl voLFkk       

       (D) vk;ueaMy dk Bksl ikuh 
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59. A woman desire to clean the surface of 

her gold ornaments by a chemical 

approach. For this she requires to use 

(A) aqua - regia  

(B) Concentrated       

(C) Concentrated NaOH    

(D) Sodium thiosulphate solution 

60. Which one among the following can 

produce light by a chemical change ? 

(A) Sun  (B) Moon 

(C) Electric bulb  

(D) Lightning and thunder  
61. What does the airbag, used for safety of 

car driver, contain ? 

(A) Sodium bicarbonate(B) Sodium azide 

(C) Sodium nitrite    (D) Sodium peroxide 

62. One polymeric fibre used as substitute 

for wool in making synthetic blankets, 

sweaters, etc., is -  

(A) Nylon  (B) Teflon 

(C) Orlon  (D) Bakelite 

63. Which of the following do not consist 

carbon ? 

(A) Diamond (B) Graphite 

(C) Coal  (D) None of these 

64. Solder used in soldering metal pieces 

consiste of any alloy of ? 

(A) Tin and Zinc (B) Tin and Lead 

(C) Tin, Zinc and Copper    

(D) Tin, Lead and Zinc 

65. Which of the following is mainly used 

for the production of Aluminium ? 

(A) Hematite (B) Lignite 

(C) Bauxite  (D) Magnetite 

66. Which of the following is a plant 

hormone: 

(A) adreline  (B) insulin 

(C) secretin  (D) oxysin 

67. The first heart transplantation was 

done by: 

(A) Dr. William Harbe    

(B) Sir F.G. Hafkin 

(C) Dr. Louis Pasteur    

(D) Dr. Christen Barnard 

59- ,d efgyk jklk;fud n`f"Vdks.k ls vius lksus ds 

xguksa dh lrg dks lkQ djus dh bPNk j[krh gSA 

blds fy, mls mi;ksx djuk gksxkA 

 (A) ,Ddk&jsft;k  (B) lkanz       

 (C) lkanz NaOH            

 (D) lksfM;e Fkk;kslYQsV ?kksy 

60- fuEufyf[kr esa ls dkSu lk ,d jklk;fud ifjorZu 

}kjk izdk'k mRiUu dj ldrk gS 

 (A) ,d lwjt  (B) panzek 
 (C) bysfDVªd cYc (D) fctyh vkSj xjt 

61- dkj pkyd dh lqj{kk ds fy, mi;ksx fd, tkus 

okys ,;jcSx esa D;k gksrk gS\ 

 (A) lksfM;e ckbdkcksZusV  

 (B) lksfM;e ,d rjQ 

 (C) lksfM;e ukbVªkbV  

 (D) lksfM;e isjksDlkbM 

62- d`f=e dacy] LosVj bR;kfn cukus esa Åu ds fodYi 

ds :i esa bLrseky gksus okyk ikWfyefjd Qkbcj gS& 

 (A) uk;ykWu  (B) Vs¶ykWu 

 (C) vkWjyu             (D) cSdsykbV 

63- fuEufyf[kr esa ls fdl esa dkcZu ugha gksrk gS\ 

 (A) Mk;eaM  (B) xzsQkbV 

 (C) dks;yk             

 (D) buesa ls dksbZ ugha 
64- Vkadk yxkus okys /kkrq ds VqdM+ksa esa bLrseky gksus 

okys lksYMj feJ /kkrq gS\ 

 (A) fVu vkSj tLrk (B) fVu vkSj ysM 

 (C) fVu] tLrk vkSj rkack 

        (D) fVu] lhlk vkSj tLrk  

65- ,Y;qfefu;e ds mRiknu ds fy, eq[; :i ls fuEu 

esa ls fdldk mi;ksx fd;k tkrk gS\ 

 (A) gsesVkbV  (B) fyXukbV 

 (C) ckWDlkbV       (D) eSXusVkbV 

66- fuEufyf[kr esa ls dkSu ,d ikni gkeksZu gSA 

 (A) ,Mªsykbu  (B) balqfyu 

 (C) lsØsfVu          (D) vkWDlhlhu 

67- igyk ân; izR;kjksi.k fdlds }kjk fd;k x;k FkkA 

 (A) MkW- fofy;e gkcsZ    

 (B) lj ,Q- th- gkQfdu 

 (C) MkW- yqbZ ik'pj               

 (D) MkW- fØLVu cukZM 
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68. Jaundice causes the infection in: 

(A) Brain  (B) Liver 

(C) Kidney  (D) Spleen 

69. Which of the following is secreted 

through lachrymal gland ? 

(A) Sebum  (B) Mucous 

(C) Tears  (D) Sweat 
70. Who gave Double Helix Model of DNA? 

(A) Dalton  (B) Shalk 

(C) Watson & Crick(D) Leeuwenhock 

71. Which of the following islands lies 

between lndia and Sri Lanka ? 

(A) ELephanta (B) Newmoore 

(C) Rameshwaram (D) Lakshadweep 

72. Hyderabad is situated on the bank of 

river. 

(A) Kaveri  (B) Krishna 

(C) Tungabhadra (D) Musi 

73. Godawari, Krishna and Kaveri are 

examples of which type of drainage 

pattern ? 

(A) Dendritic (B) Trellis 

(C) Annular  (D) Radial 

74. Which one of the following mountain 

ranges separates Europe from Asia ? 

(A) Apenine  (B) Black Forest 

(C) Ural  (D) Sulaiman 

75. Which of the following is not a cold 

desert ? 

(A) Patagonia (B) Great basin 

(C) Taklamakan (D) Gibson 

76. Trees do not shed their leaves periodi-

cally is known as - 

(A) Alpine  (B) Evergreen 

(C) Deciduous (D) Coniferous 

77. Which of the following is pacific 

ocean currents. 

(A) Gulf stream (B) Brazil Current 

(C)Benguela Current(D)lyosio Current 

78. 'Saddle Peak', the highest peak of 

Andaman and Nicobar IsIands is 

located in........... 

(A)Great Nicobar (B)Middle Andaman 

(C) Little Andaman 

(D) North Andaman 

68- ihfy;k laØe.k dk dkj.k curk gSA 

 (A) fnekx  (B) fyoj 

 (C) fdMuh            (D) frYyh 
69- fuEufyf[kr esa ls fdls ySfØey xzafFk ds ek/;e ls 

lzkfor fd;k tkrk gS\ 

 (A) lhce  (B) 'ys"ek 
 (C) vk¡lw              (D) ilhuk vkuk 

70- Mh,u, dk Mcy gsfyDl ekWMy fdlus fn;k Fkk\ 

 (A) MkYVu  (B) 'kkWd 

 (C) okWVlu vkSj fØd      (D) yhmosugkWd 

71- fuEu esa ls dkSu lk n~ohi Hkkjr ,oa Jhyadk ds 

chp fLFkr gS\ 

 (A) ,yhQsUVk  (B) U;wewj 

 (C) jkes'oje~        (D) y{kn~hi 

72- gSnjkckn fdl unh ds rV ij fLFkr gSa 

 (A) dkosjh  (B) d`".kk 
 (C) rqaxHknzk           (D) ewlh 
73- xksnkojh] d`".kk vkSj dkosjh fdl izdkj dh ty 

viokg iz.kkyh ds mnkgj.k gSa\ 

 (A) o`{kkdkj   (B) tkyhuqek 
 (C) pØkdkj         (D) f=T;kdkj 
74- fuEufyf[kr ioZr Jsf.k;ksa esa ls dkSu lh ,d] ;wjksi 

dks ,f'k;k ls vyx djrh gS\ 

 (A) ,isuhu  (B) CySd QkWjsLV 

 (C) ;wjky             (D) lqySeku 
75- fuEufyf[kr esa ls dkSu lk ,d BaMk jsfxLrku ugha 

gSA 

 (A) isVkxksfu;k  (B) xzsV csflu 

 (C) rDykekdu             (D) fxClu 
76- isM+ tks vkof/kd :i ls vius iÙkksa dks ugha NksMrs 

gSa mUgsa ------------- ds :i esa tkuk tkrk gSA 

 (A) vYikbu  (B) lnkcgkj 

 (C) i.kZikrh          (D) 'kadq/kkjh 
77- fuEu esa ls dkSu ls iz'kkar egklkxj ds izokg gSaA 

 (A) [kkM+h dk izokg (B) czkthy izokg 

 (C) csaxq,yk izokg  (D) b;ksfl;ks izokg 
78- vaMeku & fudksckj }hi esa ^lSfMy ihd* dgk¡ 

fLFkr gS\ 

 (A) xzsV fudksckj  (B) e/; vaMeku 

 (C) fyfVy vaMeku (D) mÙkjh vaMeku 
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79. Which of the following elements are 

found in highest and lowest quantities 

respectively in the crust of the earth ? 

(A) Oxygen and Silicon     

(B) Calcium and sodium 

(C) Sodium and magnesium   

(D) Oxygen and magnesium 

80. The north east monsoon, is also known 

as winter monsoon which blows from - 

(A) Land to sea(B) Plains to mountain 

(C) Upper air circulation  

(D) Sea to land 

81. Which organization prepares the topo-

graphical maps of India ? 

(A) Geological Survey of India    

(B) Archaeological Survey of India 

(C) Survey of India    

(D) National Atlas and Thematic Map-

ping Organisation 

82. Which one of the following is not an 

international boundary line ? 

(A) Dresdan line (B) Durand line 

(C) Maginot line (D) 38
th
 Parallel 

83. Which one of the following statements 

is not correct ? 

(A) Temperatures decrease from the 

equtator  to poles     

(B) Temperatures in equatorial regions 

change substantially from January 

to July 

(C) Large landmasses located inthe 

subarctic and arctic zones develop 

centres of extremely low 

temperatures in winter    

(D) Highlands are always colder than 

surrounding low lands  

84. North India was ruled by which one of 

the following dynasties at the time of 

Sikander's attack ? 

(A) Nanda   (B) Maurya 

(C) Kanva  (D) Sunga 

85. The Prayag commendation gives infor- 

mation about whose military campaign 

? 

(A) Chandragupta I (B) Samudragupta 

(C) Chandragupta II(D) Kumaragupta 

79- fuEufyf[kr rÙoksa esa ls dkSu&ls Hkw&iiZVh esa Øe'k% 

vf/kdre ek=k vkSj fuEure ek=k esa ik;s tkrs gSa\ 

 (A) vkWDlhtu vkSj flfydkWu    

 (B) dSfY'k;e vkSj lksfM;e 

 (C) lksfM;e vkSj eSXuhf'k;e    

 (D) vkWDlhtu vkSj eSXuhf'k;e 

80- mÙkj iwoZ ekulwu dks 'kjn ekulwu ds uke ls Hkh 

tkuk tkrk gS] tks fuEu izdkj ls cgrh gS& 

 (A) Hkwfe ls leqnz dh vksj 

 (B) eSnku ls ioZr dh vksj 

 (C) Åijh ok;q ifjlapj.k  

 (D) leqnz ls Hkwfe dh vksj 

81- dkSu&lh laLFkk Hkkjr ds LFkykd`frd ekufp= cukrh 

gS\ 

 (A) Hkkjrh; HkwoSKkfud losZ{k.k    

 (B) Hkkjrh; iqjkrRo losZ{k.k 
 (C) Hkkjrh; losZ{k.k    

 (D) jk"Vªh; ,Vyl ,oa FkheSfVd ekufp=.k laxBu 
82- fuEufyf[kr esa ls dkSu&lh ,d] varjk"Vªh; lhek 

js[kk ugha gS\ 

 (A) MsªlMsu js[kk  (B) MwjaM js[kk 
 (C) eSfxuksV js[kk  (D) 38oha lekukarj 
83- fuEufyf[kr dFkuksa esa dkSulk ,d lgh ugha gS\ 

(A) fo"kqor o`Ùk ls /kzqoksa dh vksj rkieku ?kVrk 

tkrk gS    

(B) fo"kqorh; {ks=ksa esa tuojh ls tqykbZ ds chp 

rkieku esa Hkkjh cnyko gksrs gSa 

(C) mi mÙkj /kqzoh; vkSj mÙkj /kqzoh; izns'kksa esa 

vofLFkr o`gr Hkw lafgr;ksa esa 'khr_rq esa 

vR;ar de rkieku ds dsanz fodflr gksrs gSa 

(D) mPp Hkwfe;kW] lnSo vkl&ikl dh fuEu Hkwfe;ksa 

ls B.Mk gksrh gSA  

84- fldanj ds geys ds le; mÙkj Hkkjr ij 

fuEufyf[kr jktoa'k esa ls fdl ,d dk 'kklu Fkk\  

 (A) uan   (B) ekS;Z      (C) d.o       (D) 'kqax 

85- iz;kx iz'kfLr fdlds lSU; vfHk;ku ds ckjs esa 

tkudkjh nsrh gS\ 

 (A) panzxqIr izFke  (B) leqnzxqIr 

 (C) panzxqIr n~forh; (D) dqekjxqIr 
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86. Which Mughal emperor is known as 

'Rangeela' ? 

(A) Farrukhsiyar (B) Rafi-ud-dharat 

(C) Muhammad Shah 

(D) Rafi-ud-daulah 

87. The purpose of the Butler Committee 

of 1927 was. 

(A) To modernize the Indian Army.   

(B) To modernize Indian agriculture. 

(C) Implementing censors on national 

newspapers.    

(D) To improve the relations between 

the Government of India and the 

indigenous states 

88. Mahatma Gandhi at the time of India's 

independence. 

(A) Was a member of the Congress 

Working Committee.     

(B) Was not a member of Congress. 

(C) Was the President of Congress.  

(D) Was the General Secretary of the 

Congress. 

89. Which sector of the Indian economy 

contributes the most to a successful 

national product ? 
(A) Primary Sector  (B) Secondary Sector 

(C) Tertiary Sector (D) Public Sector 

90. Closed economy is the economy in 

which - 

(A) Inflation is fully controlled.   

(B) Deficit financing 

(C) Only exports    

(D) Neither export nor import 

91. What kind of unemployment predomi-

nance is seen in agriculture ?  

(A) Structural unemployment    

(B) Open Unemployment 

(C) Invisible Unemployment   

(D) Frictional unemployment 

92. What is meant by a mixed economy ? 

(A) Promoting both agriculture and 

industry in the economy     

(B) Co-existence of government and 

private sector 

(C) Coexistence of rich and poor  

(D) Coexistence of Small and Large 

industries 

86- dkSu&lk eqxy ckn'kkg ^jaxhyk* ds uke ls tkuk 

tkrk gS\ 

 (A) Q#Z[kfl;j  (B) jQh&mn~&njkr 

 (C) eqgEen 'kkg  (D) jQh&mn~&nkSyk 
87- 1927 dh cVyj desVh dk mn~ns'; Fkk 

 (A) Hkkjrh; lsuk dk vk/kqfudhdj.k djukA 

 (B) Hkkjrh; d`f"k dk vk/kqfudhdj.k djukA 

 (C) jk"Vªh; lekpkj&i=ksa ij laslj ykxw djukA  

 (D) Hkkjr ljdkj rFkk ns'kh jkT;ksa ds e/; laca/kksa 

dks lq/kkjukA 

88- Hkkjr dh Lok/khurk ds le; egkRek xka/kh & 

 (A) dkaxzsl dk;Zdkfj.kh lfefr ds lnL; FksA  

 (B) dkaxzsl ds lnL; ugha FksA 
 (C) dkaxzsl ds v/;{k FksA    

 (D) dkaxzsl ds egklfpo FksA 
89- Hkkjrh; vFkZO;oLFkk dk dkSu&lk {ks= ldy jk"Vªh; 

mRikn esa lcls vf/kd ;ksxnku gS\ 

 (A) izkFkfed {ks=  (B) f}rh;d {ks= 

 (C) r`rh;d {ks=  (D) lkoZtfud {ks= 
90- can vFkZO;oLFkk ¼Closed economy½ og 

vFkZO;oLFkk gS ftlesa& 

 (A) eqnzkLQhfr iw.kZr;k fu;af=r gksrh gS  

 (B) ?kkVs dh foÙk O;oLFkk gksrh gS 
 (C) dsoy fu;kZr gksrk gS    

 (D) u rks fu;kZr gksrk gS] u vk;kr gksrk gS 

91- d`f"k esa ewyr% fdl izdkj dh csjkstxkjh dh 

iz/kkurk ns[kh tkrh gS\ 

 (A) lajpukRed csjkstxkjh  

 (B) [kqyh csjkstxkjh 
 (C) vn`'; csjkstxkjh  

 (D) ?k"kZ.kkRed csjkstxkjh 
92- fefJr vFkZO;oLFkk ls D;k vfHkizk; gS\ 

 (A) vFkZO;oLFkk esa d`f"k vkSj mn~;ksx nksuksa dks 

c<+kok nsuk    

 (B) ljdkjh ,oa futh {ks= dk lgvfLrRo 

 (C) vehj ,oa xjhc dk lgvfLrRo  

 (D) NksVs vkSj cM+s m|ksxksa dk lgvfLrRo 
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93. Who among the following appoints the 

Chief Justice and other Judges of the 

Supreme Court ? 

(A) Prime minister (B) Vice-President 

(C) Home minister (D) President 

94. Indian federal structure is inspired by 

which model of the countries given 

below ? 

(A) USA  (B) Canada 

(C) Switzerland (D) Russia 

95. Inida  has borrowed the concept of 

Fundamental Rights from the Constitu-

tion of 

(A) UK   (B) USA 

(C) Russia  (D) Ireland 

96. Which of the following commission 

was appointed by the central Govern-

ment on Union-State relations in 1983? 

(A) Sarkariya commission    

(B) Dutt commission 

(C) Setalvad commission    

(D) Rajamannar commission 

97. "Liberto" term is associated with the 

game of - 

(A) Cricket   (B) football 

(C) Golf  (D) Volleyball 

98. Vijay hazare trophy is related to which 

sport ? 

(A) Cricket   (B) football 

(C) Golf  (D) Volleyball 

99. The player who was awarded with 

Arjuna Award, Dronacharya Award, 

Rajiv Gandhi Khel Ratna and Padma 

shri is- 

(A) Kapil Dev (B) Sunil Gavaskar 

(C) Pullela Gopichand 

(D) Sachin Tendulkar 

100. Where were the words 'We the People 

of India' used in the Indian Constituti-

on ? 

(A) Directive Principles of Policy   

(B) Fundamental Rights 

(C) Citizenship    

(D) Preamble to the Constitution 

93- fuEufyf[kr esa ls dkSu loksZPp U;k;ky; ds eq[; 

U;k;k/kh'k vkSj vU; U;k;k/kh'kksa dh fu;qfDr djrk 

gS\ 

 (A) iz/kkuea=h  (B) mi&jk"Vªifr 

 (C) x`g ea=h  (D) jk"Vªifr 
94- Hkkjrh; la?kh; <kapk uhps fn, x, ns'kksa ds fdl 

ekWMy ls izsfjr gS\ 

 (A) ;w,l,  (B) dukMk 
 (C) fLoV~tjySaM  (D) :l 
95- Hkkjr us ekSfyd vf/kdkjksa dh vo/kkj.kk dks fdlds 

lafo/kku ls xzg.k fd;k gS\ 

 (A) ;wds   (B) ;w,l, 

 (C) :l   (D) vk;jySaM 

96- fuEufyf[kr esa ls dkSu lk vk;ksx 1983 esa dsanz & 

jkT; laca/kksa ij dsanz ljdkj }kjk fu;qDr fd;k 

x;k Fkk\ 

 (A) ljdkfj;k vk;ksx (B) nÙk vk;ksx 

 (C) 'khryokM+ vk;ksx (D) jkteékj vk;ksx 

97- fyczrks 'kCn fdl [ksy ls lacaf/kr gS\ 

 (A) fdØsV  (B) QqVckWy 

 (C) xksYQ   (D) ckWyhcky 
98- fot; gtkjs VªkWQh fdl [ksy ls lacaf/kr gSA  

(A) fØdsV  (B) QqVckWy 

(C) xksYQ  (D) ckWyhcky 
99- fdl f[kykM+h us vtqZu] nzks.kkpk;Z] jktho xka/kh [ksy 

jRu vkSj in~eJh iqjLdkj thrs gSa\ 

 (A) dfiy nso  (B) lquhy xkoLdj 

 (C) iqysyk xksihpanz (D) lfpu rsanqydj 
100- ^ge] Hkkjr ds yksx* (We the People of 

India) 'kCnksa dk iz;ksx Hkkjrh; lafo/kku esa dgka 

fd;k x;k\ 

 (A) uhfr funs'kd fl)kar (B) ekSfyd vf/kdkj 

 (C) ukxfjdrk   

 (D) lafo/kku dh izLrkouk 
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English 

Directions:- In the following questions, 
you have a brief passage with five 
questions following the passage. Read 
the passage carefully and choose the 
best answer passage carefully and 
choose the best answer of each question 
out of the four alternatives. 
Among the natural resources which can be 
called upon in national plan for 
development, possibly the most important 
is human labour, without productive 
labour force, including effective leadership 
and intelligent middle management, no 
amount of foreign assistance of natural 
wealth can ensure successful development 
and modernization. One essential factor is 
usually overlooked or ignored. The 
forgotten factor is the role of women. 
Development will be handicapped as long 
as women remain second-class citizens, 
uneducated, without any voice in family or 
community decisions, without legal or 
economic status, married when they are 
still practically children, and henceforth 
producing one body after another, often 
only to see half of them die before they are 
of school age. We can enhance developm-
ent by improving ‘woman power’ by giving 
women opportunity to develop themselves. 
101. The most important natural resour-

ce for national development is 
(A) human labour 
(B) effective leadership 
(C) intelligent middle management 
(D) foreign assistance 

102. Human power means 
(A) only men  
(B) only women 
(C) people including children 
(D) both men and women 

103. The ignored and overlooked factor 
in the development of the nation is 
(A) role of women  
(B) role of middle management 
(C) role of child labour 
(D) role of foreign assistance 

104. Women have hardly 
(A) any voice in family or commu-
nity decisions 
(B) any economic or legal status 
(C) any voice in family or commu-
nity decision or legal or economic 
status 
(D) any voice to decide about thems-
elves 

105. Women power is- 
(A) an essential power in the 
development of the nation 
(B) an essential power in child 
production 
(C) an essential power in marriages 
(D) an essential factor for the death 
of children 

Directions:- In the following question, 
four alternatives are given for the 
idiom/ phrase in bold in the sentence. 
Choose the alternative which best 
expresses the meaning of the idiom/ 
phrase. 
106. He went on sowing wild oats; he 

reaped sufferings in his old age. 
(A) Inviting troubles as a boy 
(B) Warning others as a young man 
(C) Irresponsible pleasure seeking in 
young age 
(D) Sowing gains called oats when 
young 

107. I don’t know why she has become 
stand-offish recently. 
(A) Angry  (B) Hilarious 
(C) Indifferent (D) Unmanageable 

108. I cannot put up with your miscon-
duct any longer. 
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(A) Excuse  (B) Refuse 
(C) Accept  (D) Tolerate 

109. Due to increased number of lay offs 
in the industry, The sword of 
Damocles is always hanging over 
the employees.  
(A) strict rules and regulations  
(B) an ill omen of death 
(C) a constant threat    
(D) threat of physical harm 

110. True friends stay by our side 
through thick and thin. 
(A) under all circumstances   
(B) in happy moments 
(C) in difficult times    
(D) in different weathers 

111. The ambitious project to impart free 
books to all students ended in 
smoke.  
(A) exceeded the budget   
(B) was delayed 
(C) yielded no result    
(D) was successfully completed 

112. Extreme poverty made the poor 
woman wonder how long she could 
keep the wolf from the door.  
(A) avoid starvation    
(B) live on charity 
(C) keep wild animals away   
(D) be safe in her house 

113. When his envious competitor exten-
ded a hand of friendship, he smelt a 
rat.  
(A) detected something wrong  
(B) felt very pleased  
(C) became complaisant    
(D) behaved arrogantly 

114. Coming from an affluent family, she 
found herself a square peg in 
around hole  when she married a 
poor farmer and moved to a small 
village.  
(A) in a favourable situation   

(B) unhappy and regretful 
(C) a misfit in the environment  
(D) in a financial crisis 

115. The loyal watchman was cut to the 
quick when he was accused of theft.  
(A) imprisoned  
(B) severely punished 
(C) hurt intensely (D) dismissed 

116. The heavy losses in business came 
like a bolt from the blue.  
(A) a thunderstorm    
(B) an unexpected disaster 
(C) a windfall    
(D) an ominous warning 

Directions:- In the following questions, 
out of four option only one word is 
correctly spelt. Find the word and 
indicate it in the Answer Sheet by 
blackening the appropriate rectangle. 
117. (A) Consience (B) Conscience 

(C) Consciens (D) Consiena 
118. (A) Magnificient (B) Magnificent 

(C) Magnificient (D) Magnifecent 
119. (A) Neccessary (B) Necesarry 

(C) Necesary (D) Necessary 
120. (A) Coruppt  (B) Corrupt 

(C) Currupt  (D) curropt 
 

Sentence Arrangement 
 

121. (a) He was a versatil writer who/(b) 
that are all considered the best in 
their spheres/(c) Tagore was a poet 
before everything else but/(d) wrote 
novels, dramas, essays, and short 
stories. 
(A) CABD  (B) ABDC 
(C) BDCA  (D) CADB 

122. (a) Stubbornly refused/(b) the thief 
almost/ (c) his hands up or he would 
shoot/ (d) when the policeman told 
him to keep 
(A) ACBD  (B) DBAC 
(C) CADB  (D) BADC 
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123. P. explained angrily 
Q. the bricklayer 
R.  leaving the site 
S.  his reasons for 
(A) QPSR  (B) SRPQ 
(C) RQPS  (D) PSRQ 

124. 1. Shylock, 
P. was a money lender, 
Q. by lending money at great interest 
R. the Jew of Venice, 
S. who amassed an immense fortune 
6. the Christian merchants. 
(A) PRSQ  (B) SPRQ 
(C) RPQS  (D) RPSQ 

125. P. For an hour 
Q. because it had to wait 
R. due to dense fog 
S. the plane couldn't take off 
(A) PQRS  (B) RQPS 
(C) QPRS  (D) SPQR 
 

Directions:- In the following questions 
out of the four alternatives choose the 
one which can be substituted for the 
given words/sentence. 
126. One who collects coins 

(A) Archaeologist (B) Numismatist 
(C) Philatelist (D) Connoisseur 

127. A system of Government in which 
only a group functions. 
(A) Oligarchy (B) Dictatorship 
(C) Totalitarianism(D) Theocracy 

128. Customs and habits of a particular 
group: 
(A) Mores  (B) Traditions 
(C) Rites  (D) Rituals 

Directions:- In the following questions, 
out of the four alternatives, choose the 
one which best expresses the meaning of 
the given word. 
129. Irreverence 

(A) disrespect (B) cruelty 
(C) unkindness (D) invalidity 

130. Amicable 

(A) poisonous (B) friendly 
(C) satisfying (D) heartening 

131. Prudent 
(A) wise  (B) experienced 
(C) cautious (D) criminal 

132. Reassert 
(A) renounce (B) acknowledge 
(C) disbelief (D) conceal 

133. Preposterous 
(A) careful  (B) casual 
(C) absurd  (D) deterrent 

134. Splayed 
(A) nimble  (B) jade 
(C) frayed  (D) spread 

135. Consolidate 
(A) centralize (B) variate 
(C) declare  (D) Announce 

136. Abandon 
(A) forgo  (B) pursue 
(C) scarce  (D) swell 

Directions:- In the following questions, 
out of four alternatives, choose the one 
which best expresses the opposite 
meaning of the word given in Capital 
letters. 
137. APPALLING 

(A) shocking (B) consoling 
(C) scaring  (D) horrifying 

138. JEST 
(A) gravity  (B) grim 
(C) genial  (D) sport 

139. CURTAIL 
(A) lengthen (B) shorten 
(C) entail  (D) close 

140. Frugality  
(A) economy (B) extravagance 
(C) miserliness (D) niggardliness 

141. Deface  
(A) stigma  (B) adornment 
(C) strength (D) Blemish 

142. Fortuitous  
(A) unlucky  (B) bad 
(C) distressing (D) abominable 
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143. Profligate  
(A) proper  (B) extravagant 
(C) effective (D) thrifty 

144. Slovenly  
(A) gaudy  (B) tidy 
(C) formal  (D) old fashioned 

Directions:- In the following questions, 
some of the sentences have errors and 
some have none. Find out which part of 
sentence has an error and blacken the 
oval corresponding to the appropriate 
number (A), (B), (C). If there is no error, 
blacken the oval corresponding to 
number (D) in the answer sheet. 
145. (A) Two hours have passed/(B) 

since/(C) he had fallen asleep/(D) 
No error. 

146. (A) Having broken down/(B) the 
driver sent the car/(C) to the 
garage./ (D) No error. 

Directions:- In the following questions, 
sentences are given with blanks to be 
filled in with an appropriate word (s). 
Four alternatives are suggested for each 
question. Choose the correct alternative 
out of the four. 
147. His wife has a twin who resembles 

each other so much that at first he 
had great trouble telling................... 
(A) one from the other  
(B) one from another 
(C) each other (D) who is which 

148. At great length, that night 
they.............the feasibility of their 
plans. 
(A) discussed about    (B) discussed 
(C) discussed regarding 
(D) discussed on 

149. Will those of you who have 
objections to this 
proposal...............put up your hands, 
please? 
(A) discussed  

(B) being discussed 
(C) having discussed 
(D) discussing 

150. She has frequent toothaches. So she 
decided to................ 
(A) remove her teeth 
(B) removing her teeth 
(C) have her teeth removed 
(D) having her teeth removed 
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ANSWERS 

1 D 21 B 41 C 61 B 81 C 101 A 121 D 141 B 

2 D 22 D 42 D 62 C 82 A 102 D 122 D 142 A 

3 C 23 C 43 C 63 D 83 B 103 A 123 A 143 D 

4 A 24 B 44 C 64 B 84 A 104 C 124 D 144 B 

5 A 25 A 45 D 65 C 85 B 105 A 125 D 145 C 

6 A 26 B 46 A 66 D 86 C 106 C 126 B 146 A 

7 A 27 A 47 B 67 D 87 D 107 C 127 A 147 A 

8 A 28 B 48 B 68 B 88 B 108 D 128 B 148 B 

9 A 29 A 49 D 69 C 89 C 109 C 129 A 149 B 

10 A 30 A 50 B 70 C 90 D 110 A 130 B 150 C 

11 D 31 B 51 B 71 C 91 C 111 C 131 A   

12 C 32 C 52 A 72 D 92 B 112 A 132 B   

13 C 33 C 53 D 73 A 93 D 113 A 133 C   

14 A 34 A 54 A 74 C 94 B 114 C 134 D   

15 B 35 D 55 C 75 D 95 B 115 D 135 A   

16 C 36 C 56 C 76 B 96 A 116 B 136 A   

17 B 37 A 57 D 77 D 97 D 117 B 137 B   

18 D 38 B 58 C 78 D 98 A 118 B 138 B   

19 A 39 A 59 A 79 D 99 C 119 D 139 A   

20 C 40 B 60 A 80 A 100 D 120 B 140 B   

 

 

 

 

 

 

 


